PSB—25A ©00~1200)

N ey
O B bl b2 jLH & (TlT) h2 h3 r §i§£
900X 600 870 600 900 100 70 1740
900X 700 865 700 1000 150 1842
900X 800 860 800 1100 0 200 1974
900900 855 900 1200 250 2109 2
900 1200 100 H
9001000 850 1000 | 1310 300 2304 5
9001100 845 1100 | 1410 160 350 2443
900 1200 840 1200 | 1510 400 2585
900 1500 825 1500 | 1830 180 550 150 3070
1000X 600 970 600 900 100 70 1812
1000X 700 965 700 1000 150 1914
1000 800 960 800 1100 0 200 2046
1000900 955 900 1200 250 2181
1000 | 1300 100
1000 1000 950 1000 | 1310 300 2381
1000X 1100 945 1100 | 1410 160 350 2520
1000 1200 940 1200 | 1510 400 2662
1000 1500 925 1500 | 1830 180 550 150 3156
1100X 600 1070 600 900 100 70 1884
1100800 1060 800 1100 | 150 200 2118
1100900 1055 900 1200 250 2253
11001000 1100 | 1400 | 1050 | 1000 | 1310 300 100 2458
1100X 1100 1045 | 1100 | 1410 | 160 350 2597
1100 1200 1040 | 1200 | 1510 400 2739
1100 1500 1025 | 1500 | 1830 180 550 150 3243
1200 X 600 1170 600 900 100 70 1956
1200 X 800 1160 800 1100 | 150 200 2190
1200900 1155 900 1200 250 2325
1200X 1000 1200 | 1500 | 1150 | 1000 | 1310 300 100 2534
12001100 1145 | 1100 | 1410 | 160 350 2674
1200 X 1200 1140 | 1200 | 1510 400 2815
1200 1500 1125 | 1500 | 1830 180 550 100 3329
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